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1. R @ woike o s <1 4x4=16

Answer any four questions :

(a) T o e & &1 2 TR ARaRes & 75 2

What do you mean by primary data?
What are its advantages?
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( 2)

(b) M y3I ACACF  xI  EENE TR
2x-3y+4 =0 2, (2T yI ANICHF x9
TRRE 9918 57 2
If the regression equation of x on y is

2x-3y+4 =0, then what will be the
regression coefficient of x on y?

(¢) 2,6, 8, 109F 157 ARPK 9Jeii i 2
What is the .coefficient . of jrange of
2, 6, 8, 10 and 157
(@) cHPeR R w3 opere @ e 64w
zzsémﬁfmaww@sﬁwm

If the Laspeyres and’Paasche indices

are 64 and 225 respectively, then find
the Fisher's Index.

(e) Wm‘éﬁ—tﬁﬂaﬁfﬁwéﬁﬂrﬁaﬁww
- w9t v G e

Write a short note on the study of trend

‘in a time series’ W1th the help of linear
diagram.

) ﬁﬁmw@swwwmww
AFREAR forar 1

Write the differences between quantity
index and price index.

2. (@) () R @ 0w @@ 9| qiE o9
3 @ GM? = AMxHM. 4

Prove for any two non-zero values
that GM? = AM x HM.
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(i) w7 fia ferema vpef® o1 Fef = 5
Calculate the two quartiles for the
following data :

Lo gl
Weight No. of students
0-10 20
10-20 25
20-30 32
30-40 40
40-50 42
~50-60 35
60-70 | 10
(i) oo fal IRAEel ReeeR AW
ﬁm Wﬁ‘ﬁ 9 7

Calculate the value of the standard
deviation  for _the following
frequency distribution :

G | 3y 35| 3540 | 40-45 | 45-50

Class interval

SIS \
Frequency 12 18 16 14

1 11 50-55 | 55-60 | 60-65

Class interval

SISENM ,
Frequency 12 8 6
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wzq1/ Or

: KIR:
) () b RO SPRARS OIS T 7
qd T e 1284 S 141:6

qHIR T 7 2’37 4

In a moderately skewed distribu-
tion, mode and mean are 1284 and
141-6 respectively. What will be the

value of median?

(i) @I @b FRYFE 500 & FHORS
- ARR  wRE o A% 50,000 G
FRYFICOE T S A2 Foie NRE
el S8 GG 52,000 591 S 42,000
5l 27Ce1 FRYAICOTS 1N 391 [F9 A0S
SR T 2 S5

The mean monthly salary of 500
workers of a factory is ¥ 50,000.
The mean monthly salary of male
and female workers are respectively
¥52,000 and ¥42,000. Find the

number of male workers of the
factory.
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(iti) ToTe Al [Reremq q2eed 2R/l IR TG

fver ey w41 7
Calculate mean deviation from
mode for the following distribution :
RIS
@és @ ? 230-240 | 240-250 | 250-260
PN 30T
No. of workers 8 20 40
31 (51 L
V;;Zg; ® ; | 260-270 | 270-280 | 280-300
I |
| No. of workers 18 10 4

3. (a)

22P/679

() SRS WREes SemheR R
S BT | ' | 4
Discuss the uses of the study of
regression analysis.

(i) o1 IR, o1 SRR AN
8x—10y+66 =0 9F 40x ~18y =214

x S y I ADEA IS [T 400 5
Given the two regression equations

as
8x —10y +66 =0 and 40x — 18y =214

Find the coefficient of correlation
between x and y.
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(iti) TTO foq ©A{ AT xS ARAITT Y3
e ARNeI9 ferel : -
From the data given below find the

regression equation of y on X :

x:5263453672654725
y:6253512579436033

~/331/ Or

(b) () WWW e 7 =N
AR e | 4

What is Karl Pearson s coefficient of
correlatlon? What is its range?

(i) ﬁmw |
r=0-5, Ydxdy =120, $dx*=90,0, =8

AP @RI I e 2 5
Given r=0-5  dxdy=120,
dez =90, 6, =8, find the number

of pairs of items.

(i) oo TFl S [ TRV LIFT A
g o1 : 7
Find the coefficient of correlation
from the data given below :

X : 146 152 158 164 170 176 182
y : 75 78 77 79 82 85 86
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4. (@) () T A0 @ RO iR S AT
1 B 3 | 4

Prove that Fisher’s index number

satisfies time reversal test.

(i) TR SRS @ FAN T TR SE
ez I PpekE SR |
IR oF© % @WI=E I RfmF: 5

The table below gives the average
wage of a group of workers and the
cost of living index numbers.
Calculate their real wages :

ST
Year

2015 2016 2017 2018 2019

N 79421
Average wage

315 350 360 375 380

ToPRP :
Cost of living - 955 102:5 101-8 102-:8 111-0
index ’

number
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iy e o o o AP T il

fior o g T A T

fefy 90 0

Find the quantity :
from the data given below by using

’ ula :
Paasche’s and Laspeyres form

index number

==y

(b) () I TREmeRen B

()

Write about the limitations of index
numbers.

o ol ©UR SR TR S A
S AR oIS el w4
From the data given below calculate

quantity index number by using
Laspeyres’ formula :

fofe 7= /o1 724
TN Base year Current year
Item 5o AT il ofﬁ:nq :
Price | Quantity| Price | Quantity
A 4 10 6 15 |
B 6 15 4 20
C 8 15 10 4
D 10 10 20 10
M/ Or

fefe 5fere
15 Base year Current year
Item i ART1t o7 I
Price | Quantity| Price Quantity
A 14 6 16 A |
B 12 4 14 5
C 6 4 4 6
D 8 S5 10 8
22P/679
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(ii) o M7 ©YF @ ORI e IPIRT

IBREERIE 7
Calculate Fisher’s price index
number from the data given below :
fofe 9=9 blere 929
ST Base year Current year
Item 57 Do 57 por=Sa—-
Price | Quantity| Price | Quantity
A 40 20 60 18
B 50 15 60 12
C 20 30 30 30
D 10 50 20 60
E 30 25 | 50 28
5 (@) ()9 AR SEE Toater R
SCEOAT 94T | ‘ : 4
Discuss the importance of the
study of time series analysis.
(i) oee A SR A}l 3 TRIM IR 9IS
oNaId 2@l e 1 5

Using the method of 3 yearly

moving averages,

find the trend

values for the following data :

Vaar 2001 | 2002 | 2003 | 2004
A 38 40 65 72
Sale
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@@ | 5005 | 2006 | 2007 | 2008
Year

i 69 60 87 95

Sale

R

S el @3 e T
Using the method of least squares,
calculate the trend line equation for

the following data :

—

7%y £010|2011|2012|2013|2014

| Year
S | 100 | 125 | 140 | 165 | 190

Production

MZqr/ Or

(b) (i) A e e [ ogE 2 GO I

DOP/679

(i)

AS 2491 2[ToR IETREE F 2

What do you mean by long-term
trend? What are the factors
responsible for trend in a time
series?

&GB! (IR e s 3359 (°000 Fro)
FRITOR AN y, =20-2-8t (F1 R
2015 519 1 TR, t3 GFF =1 24,
Yo = TR 530) | el HNGqeR T
{477 2021 vCa1 “{fRwSw 7 | |

The trend equation for publicity
cost (In’000 ¥) of g company is
Y, = 2.0-2-—81‘ (origin = 1st July, 2015,
t unit=1 year, y, =yearly cost).

Shift the origin of trend equation
to 2021.
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(iii) =TS frEl O o[l FASH sf e e
TR eEeTeR T W T4 7

Using the method of least squares,
calculate the trend values for the
data given below :

22P—4000/679

Ym 5011 | 2012 | 2013 | 2014
ear
‘géii 80 90 92 83
ale
Yw 5015 | 2016 | 2017 | 2018
ear
735“’”7 094 09 92 104
ale
* & %
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